T1Y-7 SUMPOBRIESANILTOI I L
— MR REA Y AT T IR E RS

147 NEBEEE (EPD) HREBTRAEAGE1-14-8
KANDA SQUARE GATE
BERES © JR-AI-24413E https://ecoleaf-label.jp

E//O0L—H—EE#

mr 3-in—1 Monochrome Laser Printer
at yourside DCP_L2620DW for Europe

TS5 —TI%#% =X &%t / BROTHER INDUSTRIES, LTD.

HEH( BRES JR-AI-24413E
w1 s EAPCREFS  PA-590000-Al-08
PCR% B A H g [ 8hk]
HENRERPE NS 2025438118
il OJehRsAt RIEAHHE 2025528278
[FERMRGRE. 4. T, EA SR BEE UYL REEA VATLFEEA R
RIEES JV-AI-24413E
REEEEAR 2030428260
HE0RKX, TEMLFK-FEx PCRLE1-DETE
AR : DCP-L2620DW SEH% 2023%F 98 1H
-5 (EPAT) ZER il B2
/90 (M EEAN D RTF T LR EHEEHAS)
-ENRIEE : 32ppm (A4) B=HRIE
-RARMEYX : A4 HNEPIREEE /BRI
<UD NAE—/ZAFv> /B ENTEENR
AREE : 9.9kg. BA : 3.1kg ISO140251CE 2= A S 5 R UT—5 OIIZ LR EE
-HEHRLAN OREB WAL 5B
KA Europeft™iy Ty VAT LREEB I FEANOREOBAE, VAT LRIEE T LBARD
& BTER .
FUWEhtsE
I -TEHERST
inml—ecoleaf-jimukyoku(at)brother.co.jp https://global.brother/ja

Fi#xES 1 JR-Al-24413E


mailto:inml-ecoleaf-jimukyoku@brother.co.jp
https://global.brother/ja

sl

WRRIENE

I3y-7J

S

IRIBEE S

(EPD)

EHRES ¢ JR-AI-24413E

SUMPOIRIESANINTOI S s
—MALEEAYRATFIINR EHEE R
R AEXAMHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

O517Y1 )V R E T lifa R

OHEERHRICEITZEMIER

EREEDOEERE (SFUA)

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 530 | kg-CO2eq
[7ge(d 0.32 | kg-SO2eq
o%o% | |
HERHE 0.022 | kg-Sbeq
n DFR#M A EE nQiE MOy ]
BOFERA-HEEE nOBEE- UYL
AER I5H By &% OFEMERE QfE QB | @ER-#EE| ORE- VT I
SUREZE) IPCC 2013 GWP 100a| kg-CO.eq | 5.3E+02 || 85E+01 | 4.8E+00 | 7.5E+00 | 4.1E+02 | 2.1E+01
i 2(d kg-SOzeq | 3.2E-01 6.5E-02 3.5E-04 6.6E-03 2.3E-01 9.5E-03
BERHEE kg-Sbeq | 2.2E-02 6.8E-03 1.3E-05 3.2E-05 1.5E-02 5.4E-06
@ 545 MBI RUMEICRIT 21
IHH BT wR-9E (ERES) BT
FBEEREER 2.4E+01 kg T 5E 5 1.9E+00 kg
FEBERREIRILY - 7.8E+03 MJ Sus 4.8E-02 kg
HERBREIR 5.8E+01 kg TIVIZOA 7.5E-02 kg
BAERTREIRILF- 1.5E+02 M) ZOthEE 0.0E+00 kg
wIKDHE 6.4E-01 m? T5AF Y 6.5E+00 kg
N 1.9E-01 kg
52 6.7E-01 kg
AP/ 2.5E+00 kg
2 [A) BREAR 3.8E-01 kg
Z0ft 6.6E-01 kg

BEt (EPAR) . BEMFEAM | 5. £EERIAER : 153,600/, EIREAIESZE (J\F—2)
EIRIFRIEIRIBERICSER, BRAULEIFRIILF-RSY-TOTS5 A Ver.3.0. A& (EEuropeftmlF

: ISO/IEC 19798

©-1.ZDMDIRIFRIE IR

AE OB EEL TELLRO M - RUEBLAEEFISO14001BEZEHFITHICTITHONTWET,

OFERALEZRT-9DEXS

IDEA v2.1.3 RUSUMPORIZESANIILTOT S ABHRIREA v1.18 ZEA LI,

®fE

O -FHEED L. PCRELUVE

E-EEMEESRBLWEI,
OLLRIDOVNTL, BE-EERBICREINEZHFERELEGELCLAIRDONEEA,
(BBB%URL : https://ecoleaf-label.jp/regulation/)

BFHES ¢ JR-AI-24413E



